Roll No. _ | Total No. of Pages : 7

NC3S-1210-A-23
B.Com III Semester (NEP) Degree Examination
COMMERCE
Cost Accounting
Paper : DSC-3.3

Time : 2 Hours : Maximum Marks : 60
Instructions to Candtdates
Answer all Sections according to Intemal choice.

SECTION. - A
N - o
Answer any FIVE of the following. : (5%x2=10)

Wezon WWF YvZ0R0.
1. a) What is cost ?
%3, omded ?
b)  State any two limitation of financial accounting.
TETOAT O IRIINTI), 9D.
c) What is purchase requisition?
DD e 0TI ?
d) What is minimum stock level ?
BOH, TOARE o8, DOTTERO ?
e) Name any two types of labour.
FoF 0 WO FFTONYY  SPA0.
. f)  What is fixed overhead ?
30 wBhREE B, DoBTeD ?
g) Write the formula for calculating wagerate of Halsey and Rowan.
3ROTT F0@HLRINT Tod T deeSyTNs AegTRY LTD.
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SECTION - B
_ N - W
Answer any FOUR of the following. : (4x5=20)
Wewor TOQF GUIORD.
2.  Anand Steels Ltd manufactures steel furniture. It has received an order for supply of
200 Chairs. The estimated cost is as under:
Raw materials : 800 kgs at Rs.30 per kg
Wages : 100 days at Rs.120 per day
Variables overheads : Factory Rs.150 per day
: Office Rs.80 per day
Fixed overheads : Factory Rs.20,000
: Office Rs.8,000
Prepare a statement showing the price to be fixed per chair if he expects 20% profit
on sales.

HT0T emﬁod FoaRF30RL 200 ﬁ:ez:ori@:ﬁgt a,z;;waa:sw Cyolel edeswa;* TBEOTOZVT.
0T i, T, B3 IPNT0ST.
5, IR : 800 8.28. de. 30 J3 .21
3RO : : 100 &Insb de. 120 d3 Z& O3
AT oTARE, &Y 1 TaRrs &, de. 150 I8 oI
330 de. 80 TJé OI-
:%ddzgs 1 BaRFs dr. 20,000
3u¥ed de. 8,000 ‘
BT TREWECWOT T, Woeds WS DM jeveise) .?uc.éﬁ@& TOTR LVIVTTR RDRTHWT
0eS T332 20 T word J0eFROTYS.

3. Calculate ‘maximum stock level and minimum stock level from the followin

information: L
Reorder quantity 9,000 units ‘
Maximum consumption 2,400 units per week
Minimum consumption 1,500 units per week
Reorder period 4 to 6 weeks

Normal consumption 1,800 units per week
nO%y omeRd Wty TN TIF TR W, FoBRBOWD.
RVIO* sTe3 T,3eD 9000 od0REFnEd

nogy eadyeen 2400 cdoREr B8 woUE
B sadyieen 1500 ododes® @8 =003
 B30e3T OB : 4 20T 6 =T

RN evIodeen. 1800 =& =008
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The payroll of Basava and Co. gives the following information. Calculate the labour
turnover rate under replacement method.

No. of employees at the beginning 150
No. of employees at the end 200
No. of employees left the .job 27
No. of employees replaced during the period 35
81 FINT WRS FOTIODST 8O ToROOT J ToNed WO a‘:déo&@ FOTROLBOWD.
E500RDT IPBTTL 150
08D JFTT 200
B0 WL FPTOW 27
SRSTN BoRoIRE FBTH TS

From the following particulars compute machine hour rate
Cost of machine (Rs.) 11,000

Scrap value (Rs.) 1,000

Repairs for the effective working life (Rs.) 1,500
Standing charges for 4 weekly period (Rs.) 1,600

Power used 6 units per hour at 5 paise per unit

Effective working life (hours) 10,000

Hours worked in 4 weekly period (hours) 120

81 BUNS FRkI0WT CDOZT B8 Rorad HURI, BOBLEO.

ooZ T T[T . 11,000
90330 33 1,000
003, T FHOFRTIO FodFE Body 1,500
RTINS, 4 wooner de. 1,600

QTP 6 CORF D T& oo T8 Rowd 5 BA
TOFRTO D03, 0RR, (rlotdngd) 10,000
4 STNY STOR ITVFLAT FODF (Rosngd) 120

Write the difference between cost control and cost reduction.
dzgd FSlovelor o) D $2§d 3?)\7535)6&1} 55335767'{%;533{ 2WTo0.

Write the objective of preparation of ARe-conciliation.
RROFOD ATTRRODFCD VT BT 2TOD.
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~ SECTION -C
R - ¥
Answer any THREE of the following.
Jewors mcz; eVZDR0.
8. From the following information prepare the stores ledger account under FIFO

(3x10=30)

method.

Units Per Unit Rs.
1-1-2013  Opening Stock 300 8
5-1-2013  Issued i 140 -
7-1-2013  Purchase : : 200 8.20
8-1-2013  Issued 60 --
15-1-2013  Purchases 250 7.90
15-1-2013  Issued 120 -
18-1-2013  Issued 3 -
22-1-2013  Issued 200 =
23-1-2013 Purchases 400 7.50
25-1-2013  Issued 150 --
28-1-2013  Purchases 200 7.70
29-1-2013 Issued 240 --

On 31-1-2013 the stock verification noted that a shortage of 20 Units.
82 NS TR0 .80 [ESODY, T BB 0D}, ATTRRO.
' ' OO T,3  00JE*(00.)

&S00 dex,

1-1-2013 300 8
5-1-2013, Qe 140 »
7-1-2013 00¢H 200 8.20
8-1-2013 eRT 60 - --
15-1-2013 2oed 250 7.90
15-1-2013  Qea3 120 --
18-1-2013 Qe 210 --
22-1-2013 ead 200 --
23-1-2013  2oed 400 7.50
25-1-2013  Qeas 150 --
28-1-2013 0068 200 7.70
29-1-2013 eqs 240 . .-
QJ00% 31-1-2013 Sod Qo FoeBowoes 20 VD D AT 20w S0
WoR3. :
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9.  During a certain week, a worker manufactured 300 articles. He receives wages for 48
hours a week at the rate of Rs.4 per hour. The estimated time to produce one article
is 10 minutes but under incentive scheme. The time allowed is increased by 20%.
Calculate his gross wages under

a) Piece Wage

b)' Halsey Plan

"¢) Rowan Plan _

2000 VOFR, WTTY, Wy, F03MmTT 300 SRONTS), SRORTVE. BFI 3R HTT 48
nosik OR. 4 2@ nowint VBBV, Lomeed BB 1o I FedRdILd 10
FBomonsh INOTRICING. $T8 T X Bress wq}mq 20T TR SCIROROI
Faood Jegwo 20% IR ZRBLRNS. S
20T WI&EC0T

a) o3¢0 30

b) =Y =3

c) CRwd ﬁd@aodo %500 3RO FORELROWD.

10. The following figures relate to Rachana Traders for the year ending 31-3-2021

Sales - Rs. 80,000

Raw materials Rs. 24,000

Labour cost . Rs. 18,000

Works overheads and administraction overheads charged in cost accounts stand in 2:1
respectively.

Actual expenses incurred are:

Manufacturing Rs. 13,000

Office  * Rs. 5,500

Selling price includes 25% profit on sales
Find out and reconcile profits as per cost and financial books.
31-3-2021 Cowd Tuds &3,¢@0°TRT NS TPS000T &Ryl BROFOTIRPINT TeIoDY

eucg_:——sm.

SIS de. 80,000
ﬁm o0, dn. 24,000
mmrﬁ ﬁw ge. 18,000

3ORT @wdraeﬁ 8, ) BBEVIT 5308 ReT ﬁzﬁuﬁe}m STIT wIoDd 2:1 SNG.
QWD sazisrmb éa FSNT0SI:
NT]TID FY, ~ oe. 13,000
5N oR. 5,500 :
SInoots BSodn B,833 25 IR, e word wIRRORT.
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11. The following'ﬁgures are extracted from the books of a.company for the year ended

31-12-2008

Rs.
Direct materials
Opening stock 60,000
Purchased during the year : 5,80,000
Closing stock 1,220,000
Direct Labour : 1,40,000
Chargeable expenses : 20,000
Office expenses : 60,000
'Marketing expenses 60,000.
Factory overheads : 1,40,000

In 2008, the annual output was 10,000 units and for the year 2009 company plans to
produce 30,000 units.

Prepare a statement of estimated cost for 2009 taking consideration following
additionals particulars.

a) Labour cost will increase by 10%
b) 50% of factory overheads are variable and fixed factory overheads will go up by
- Rs.15,000

¢) 40% of marketing expenses are fixed

d) Office expenses will increase by 25%

B3 FIPNT TRWSCIN 20T FOTCI a3 @h‘ﬁ&od 31-12-2008 Tom> IRTOERYING.
oRn.

33 83, IRND

SlelelN JRaDEDIY) 60,000

DRET 00D 5,80,000

FOTODE TR 1,20,000

~e0 3RO 1,40,000

TROTWIBOTT DN 20,000

3230 33, 60,000

BRTOTY, 53, 60,000

TS TARET e, 1,40,000

2008 O Sz emsa 10, 000 030REFRT BomO3 2009 Be wwré Sldapiasy msadéo‘b
30,000 Oiw&és‘ﬁ%ﬁﬁ
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s ene Snted ScoEROTD 0TI SHFICDR) 2000 8 AR

BV DRTB

a) TOFE B, Begmo 10 OO, émﬁgd.
b) ToLFS ST, 3%, Begmo 50 TR, 52, CONG TOMR TOTF S eSTBRET, 2%;553%@

gn. 15,000 Do émuﬁd

@

o snossd S S 40 O, AENG.
d) Tuded SUED Jegmo 25 TR, ézsa;\d.

12. Write the distinguish between financial accounting and cost accounting.
S8R, B BPPORS BRI désaﬁﬁﬁeéabq 230200.
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